| | ekplatsgrossist
WEIGHT ARE IN KILOGRAMM e p a SgrOSSIS en.se K002 AL
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

.5 Tiptiptap OU

(148 - . ou Veetorni 9, MATERIAL: .

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:25 SHEET 1 OF 8




safety area

2524

2880

|
|

7800

3607

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

Lekplatsgrossisten.se

PART NUMBER / DWG NO.:

KOO2 AL

NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

‘5 Tiptiptap OU

%, = = ouU Veetorni 9, MATERIAL: A

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 2 OF 8




4
foundation
A - 2880 _
i
B
50| 3
N
V] i N A i
1 - — — L
! | |
1 17 V I
o o
C o (@)
S 0
™ N
TTT '
1 J i i _ B
\ /
D
Y
B 3660 o
. - -
UNLESS OTHERWISE SPECIFIED: . PART NUMBER / DWG NO.:
orewons e |- Lekplatsgrossisten.se K002 AL
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER
" .5 Tiptiptap OU
T = = ou Veetorni 9, MATERIAL: .
TX;’P TI ptl ptap JUri alevik, R‘Qe vald, wood, metal, plastic A4
7530] HorJUmOO WEIGHT: | SCALE: 1:50 SHEET 3 OF 8




2619

3607 2524

ground

Il
|

| | ekplatsgrossist
WEIGHT ARE IN KILOGRAMM e p O SgrOSSIS en .Se K002 AL
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

.5 Tiptiptap OU

(1} - . ou Veetorni 9, MATERIAL: .

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 4 OF 8




TEM PART NUMBER DESCRIPTION QY.
1 |beam 76x2828 galvanized steel 1
2 |side fixture plastic 2
3 |post A, 98x98x2720 aluminium, PE plastic 2
4  |post B, 98x98x2720 aluminium, PE plastic 2
Ny rubber compound with
5 [seat complect with fixings aluminium insert 2
DIMENSIONS ARE IN MILLIMETERS i PARTNUMBER / DWG NO::
puesoswenmuveess |- | ekplatsgrossisten.se K002 AL

APPV'D

e
AP

Tiptiptap OU

T y Veetorni 9,
TP Tl ptlptapou Jri oleeveikélr?rge vald,

75301 Harjumaa

Swing construction BELL-FLOWER

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:30

SHEET5OF 8




2300

200

700

concrete

owensons aeenierss | | akolat ist PART NUMBER / DG NO::
WEIGHT ARE IN KILOGRAMM e p a SgrOSSIS en.se K002 AL
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

‘5 Tiptiptap OU

[Led H : ouU Veetorni 9, MATERIAL: :

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:18 SHEET 6 OF 8




\ground fixing

N PART NUMBER
1 |bolt DIN603 M10x%0
2 |nut cover M10
3 |nut cover cap M10
4 |nuf DIN985 M10

UNLESS OTHERWISE SPECIFIED:

PART NUMBER / DWG NO.:

e e | Lekplatsgrossisten.se K002 AL
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

3 Tiptiptap OU connecting ground fixing to post

?'P' H H ouU Veetorni 9, MATERIAL: -

TX;’P TI ptlptap JUri alevik, Rae vald, wood, metal, plastic A4

75301 Harjumaa
WEIGHT: | SCALE: 1:12 SHEET 7 OF 8




2 3 4 5
M PART NUMBER
DETAIL A
side fixture SCALE1:15
2 |nut cover M10
3 |bolt DIN931 M10x130
4 |nut cover cap M10
5 |nut DIN985 M10
6 |nut DIN985 M12
7 |domed cap nut DINT1587 M12

DIVENSIONS ARE N MILLIMETERS ; PARTNUMBER / DWG NO:
WEIGHT ARE IN KLOGRAMM LkalOTSgrOSS|STen.Se KOO2 AL
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 15.12.2014 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

‘5 Tiptiptap OU

"0 H H ou Veetorni 9, MATERIAL: :

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
] ) 75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 8 OF 8




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet5
	Drawing View7

	Sheet6
	Drawing View9

	Sheet7
	Drawing View8

	Sheet8
	Drawing View10
	Detail View A (1 : 15)


